N

17H447v8 AABCOA AB =8,
, SinA — tan A 9] g7

2- 3

6
3-22
6

d

@
@




o3 294 LACB = 90°, ABLCD C
0|1, /BCD = x, /ACD =y o, ¢t
= H7 § &2 A& =2t

[1 ]
H7]

3 4 .
@cosy:g @tany:§ © siny= -
@sinng @) cosng




3. & 139 AABC 9|4 sinx & g2 FStolzt.

A

D
/5/’
B< ave

~~4-"F -
~o--



HAL2.

©

o

= T



ohE I Zol x 3 U=

3|
=

Y
o] (—4,0) o], AA3} x Fo| o]F=
zke] 2717k 60° Q1 A 9] WAL
y=ax+b et & o, ab O gt= TSt

HY
B A60°
O 18 @ 15 @ 12 /—4 0

@9 ® 6




6. sin 90° + cos 0° —tan 0° = A , sin 0° + tan 0° + cos 90° = B 2+ & uj,
AB °] 327

® -2 @ -1 @0 @1 ® 2



7. 0°<x<90° €, \/(cosx+1)2+ /(cosx—1)% o] k27

@ cosx @ 2cosx 3 2
@ 1 ® 0



th2 139 AABC 9|4 AB = 8cm, A
BC =10cm, /B=60°< o, AC 9] 7
olg Patolet,




9.

thS 192 JABH = 60° ¢ 9%
ojth . &9l BuE F5lH?

D 243+V3x @ 2443r

® 2453n @ 243+5n

® 246 Vhr




10 gole] st M2 RANA 200m HolA AT HAHFH o
W7t ol F = Ze = 420 o]}, Sl AHoA E m Eolof UE=A]
Fotodet, (H, sin48° = 0.7431 , cos48° = 0.6691 )

=
- 7




11.

e 1 2
Fstefet.

D R
=%




135°

® 12V3



13.

O~
T X,

y

of distel, 541 20+ y+ (v - 3y)i = 3+ 27k AT

=

@ -7 ® -11

),

X
y



14. V=-3x V=6- V8+ V-4 & a+bi (a,b = A5) = JeEPHA?

D 2V2+3i @ -3V2+ V2i ® —2V3+2+2i
@ 2+3i ® 33



® 3

0|

0 [0

@ 2

NeN Bia)



@ 1-i ® 1+ @ -2i ® 2i

@ o



-1+ V3i
W= —

17' 2 ?:'_]]IH,1+W+W2++W10094%}:_‘0:(7
—1+ V3i ~1- V3i

2 2



18. 2|x-1|+x-4 =09 & Fs}oiz=}.



19.

O AL, #2 4 2 -8 =02]

D -2, 4 @ -2,
@ -4, 2 © -4,






21.

xoll Tk ol AA 2 = k(x - 2) + a7t A4 k9] Gl BAYo]
A AT 2] §I5 A% 0] gto) WIS Fahe?

@ az4 ® a<4

@ a>-4 ® ax=2



22, xol Bhgt ol A A (k2 - 1)a® - 2(k - L)x + 1 = 0°] 52 7
), k > molth. m o] k& Fatelat.

D S
=%



23.

1 _
k+ 7 =00l sld= 7k o,

1
k _
® 0< <3



Aol x2 +5x-2k=0

O A 4] 2x2 — dx -3k = 0°] 5]

24.

Al

—
ife)

o

@ 274 @ 374 @ 47 ® 574

@ 14



X2 4ax+b=

g 4

17}

25.

o
~

@ -12 @5 12 ® 20

O -20



